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Frrll lr -ru r4arks : I00
Time : As in the programme

Answer.ques!ions from aIt the ,inJ, )l)ir"c|ed.therein.

Answeq any three questions &om i**io 
f rr"r:ru,

Word Limit_700_1000
Arsw€r any rhr." 

9:s111, t"T s;on_B (8x3:24),
Word Limir_500

Answer any two questions &om Section_C (Sx2=10).

^ 
--,..^_ ^_, Word Limir_300

Axswer any hvo questions from Section_D (t 5x2=30).
word Limit_loo o - ' ." -. "u,

I

sr'r--JTION_A

t. t-low managemen.
. . rs clllerentialed fromorganization? Explain the basic features and

function of management

:*l T" rhe conrriburions of Henry Fayol in the
cevelopment of inanagement principles?

3. O:1"". *" imp-orrance of planning:as compared
with fhe olher functions of managemenr. 

""*ptannrng can become more effective in regard toadoption of planning process? 
--- '-bwu r.,

! turn over/
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DDCF-l-Sll't"Com{BC$u(QM'I\OR&B @

2018
, Full Marks:100 ''- .'

' Time : As in the Programme

Answer qiestions from atl the sections as directed therein'

. . GENERALINSTRUCTION

Answer any three questions from Section-A ( 12x3=36)'

Answer any three questions from Section-B ($x314)'
' ' word LimiJ-500

Answer any two que$ons fiom Section-C (!x2=10)'
'"'",'- *- ' l- l*..aii-iisoo ' I '

. Answer any two questions ftom Seition-D (15x2=30)'

0,10 10-20 20-30 30-40 40j50 s0-60

10' 20. 30 50 40 30
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@
2018

Full Marks : 100

Time : As in the Programme 
' ' l

. Answer questions from all the sections as directed therein'

. GENERAL INSTRUCTION

Answer any thre" q.r"tiio* from Section-A (12x3:36),
Word Limit-700-1000

Answer any three questions from Section-B 18x3=24),

'Answer any two questibns 'from Section-C (5x2:10),
Word Limit-300

Answer any two questions fiom Section-D (15x2:30),
Word Limit-1000

SECTION-A

. Answer anY three. 12x3:36

I . Describe the major changes made in the regulatory

policies of Govemment of India that constituted
^ omic refoms in 1991'the PacKage or econ

2. Explain various objectives of Fiscal Policy' Why

co-ordination between monetary and fiscal policies

necessary?

'3, Briefly explain the objective oflfG Concept aqd

discuss how it Was helpful to economic

develoPment Process.

4. Describe the recent measures adopted by SEBI

fTurn oYer]
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@

Time : As in the programme

Answer questions from atl the sections as directed therein.

GENERAL.INSTRUCTION
. Answer any three questions from Section-A (12"3:36),

Answer any three questions from Section-B (8x3:24),
Word Limit-500

Answer aay two questions from Section-C (5x2:10)
Word Limit-300

Answer any two questions from Section-D (15x2:30),

3. What do you mean by cost of equity? Discuss

different methods of calculating cost of equity

Coniment.
t"

2. * Differentiate between Net Present Value (N.P.V)

and Inernal Raie of Return (IRR) methods of

wlth sultable example.
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